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1 |ER D FEHP 90 90 150 140 2024
2 |F AW R ERP 90 90 140 264.7
3| EBT A ER Y 90 90 150 140 254.5
4 [BEgrR R EE P 90 90 150 140 195.4
5B RERP 90 90 150 140 254.4
6 |HETH A EH Y 150 150 150 140| 3F-300/ 4F-867.2
7 |6 2% A EHFP 150 150 150 140 332.5
8 |B®H R EHY 90 90 140 200.98
9 |Z4cd A EH P 150 150 140 305
10 |< 57 xEdhd 150 150 140 599
1l |£#7 xEHd 90 90 150 140 257.6
12 |43 A EHP 90 90 150 140 252
13 [FR3 XEdHr 50 50 140 66
14 |5 H® REH P 90 90 150 140 167.4
15 |fa7 xjEdkd 150  150[ 150 150 140 591.5
16 |5 kD Xigdd 90 90 150 140 280.76
17 [BAg7 R iEd P 150 50 150 140 1008.82
18 |X 7 A jghd 150 150 140 665.4
19 (B g P o 150 50 150 140 697.33
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